
Extra Practice 2

	Lesson 3.2: Using Models to Multiply Fractions

1.
Use the rectangle to find each product.
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2.
Draw a rectangle on grid paper to find each product.
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3.
One-third of the students in Mrs. Hayko’s class walk to school. 
Of the students who do not walk, four-fifths take the bus.


a)
Use counters to illustrate the product.


b)
What fraction of the students in Mrs. Hayko’s class take the bus to school? _________

c)
How many students might there be in her class?

4.
Which of the following statements are equivalent?
Draw area models to explain your answers.
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 Extra Practice Sample Answers

Extra Practice 2 – 

Lesson 3.2

1.
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c)
For example, 15 or 30 students

4.
a and c both equal 
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